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1. Write the answer of each section in separate answer sheet.

Que-1

Que-1

Que-2

Que-2

(@)
(b)

(2)

(b)

(@)

(b)

(a)

©

2. Figure to the right indicates full marks. &

3. Assume suitable data if necessary.

SECTION-I

Draw the general block diagram of closed loop co stem and
explain one of the automatic control sys
For given electromechanical system sho ig.1 degive TF X(5/E)

OR

What is gear trains system? Derive thematical Equation of gear
trains system referred to shaftl

Using block diagram reduction tec e derive the TF of the system
shown in Fig.2

How the time_re ﬁ
response of 2“%1' I CONtEo

ications are important? Draw time
em and define all specifications.

- The op servo system with unity feedback is
G=10/s uate the static error constants Ky, Ky and K, for
the system.

OR
te ate error constants are important? For type-0, type-1 and
type- tem derive steady state error constants.

Deriwthe Transfer Function of field control DC motor and draw its
ck diagram.

Write short note on A.C servo motor.

What do you mean by sensitivity? Derive the formula for sensitivity
w.r.t change in G and change in H.
What is signal flow graph? Explain all the terms of signal flow graph.
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SECTION-II

12

Write statement of Routh stability criterion. Discuss the problem
associated with Routh criterion and its remedial solution.

For unity feedback control system draw root locus and determine
stability of G(s)=K/S(S*+45+13)

OR :
12 :

For the given characteristics equation determine the range of K for the .
system to be stable using Routh criterion ‘

1) SH4KS*+1384+365+K=0 2) S“+20KS*+55*+108+15=0

Write the advantages of Root Locus. Explain all the rulesfot R
locus construction technique.

. 11
What is frequency response? Give advantages ponse
over time response.
Draw the bode plot for the given TF and dete the stability of the
system G(5)=75(1+0.25)/S(S*+16S+10 .
OR
, 11
Draw the POLAR plot ofithe foll a
(1) G(s)=1/S(1+S)(1-8)
Discuss all the factor of BE.to drawbede plot and discuss all the factor
in detail.
12

ross over frequency (2) phase cross over frequency
in (4) Phase Margin
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